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[ 1] RS Z L THRE S,

| 8x-3y=-10 -~ o 3x+2y=15 D 3) 2x=3y=-14 ---(D
8x+2y=20 -2 Ix-5y=12 @ —Sx+4y=28 -2

8x-3y=-10 @ Ox+6y =45 Ox3 10x -15y=-70 Dx5
-)8x+2y=20 @ ) 9x-5y=12 @ +)-10x+ 8y=56 @x2
~-5y=-30 11y =33 ~Ty=-14
y=206 y=3 y= 2
NEOIZRALT, nEDOITRALT, INEOITRAL T,
8x-3x6=-10 3x+2x3=15 2x-3x2=-14
8x =8 3x=9 2x=-8
x=1 x=3 x=-4
BZ x=1, y=6 Kz x=3y=3 Kz x=-4,y=2

[2] ROESLGREAZARANETHE RSV,
0 {3x—2y=2 @ ) {x=7—4y Q) 3) {x+9y=5 D

yox+2 @ Sre8y=9 @) xaSy=17 @
@zrDOITRAT S &, DOzEOITRAT S &, D% x IZHOWTHRL &
3x-2(x+2)=2 3(7-4y)+8y=9 x=5-9y @
x-4=2 4y +21=9 ZOXEDITHRAT S &,
x=06 —4y=-12 -3(5-9y)+5y=17
x=6 Z@OITRALT, y=3 32y-15=17
- ZAX 32y =32
y=6+2 y=3%ZDOIZRALT, y_l
y=38 x=7-4x%x3 o
x=-5 y=1Z2DIZRALT,
x=5-9xl
x=-4
#z x=6,y=8 K% x=-5 y=3 &z x=-4, y=1
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